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_ MATHI130 End-of-Year Examination 2004

Question 8 [15 marks]

a) Evaluate each of the following integrals:

(i) / (322 + 40757 ~aya+2) dz (i) fﬁdx

/4 1 ‘
(iii) / sin 2z dx (iv) / 3ze® du
/6 0

b) The graphs of y =4 — z? and y = 2 + 2 intersect at two points. Find the points,
and find the area of the region bounded by the two graphs.

c) The velocity of a car, in metres per second, between the time the brakes are applied
and the time it comes to a stop, is given by v = 20 — 5¢, where t is the time in
seconds after the brakes are applied.

(i) How long does the car take to stop?

(ii) How far has it travelled in that time?
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